Class:10th

Test:Chemistry

Attempt ......... questions

! Which one of the following does not contain

proteins?
a) In pulses b) In potatoes
¢) in fruits d) In eggs

2 Which of the following is fat soluble vitamin:
a) Vitamin A b) Vitamin E
b) Vitamin K d) All these

Monosaccharied consist of number of carbon

atoms
a)2to 4 b)4to 8
c)3t09 d)5to 10
4 Chemical formula of Fructose is :
a)C,H,0,, b)C,H,,0,
c)CH, d)CH,
> Which one is triglyceride:
a)Carbohydrate b) Proteins
c¢)Lipids d) Vitamins

6 In which part of disgestive system glucose absorb

b)Liver
d) Large intenstine

a) Stomach
¢)Small intestine
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a) Vitamin A b) Vitamin E

b) Vitamin K d) All these
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bleeding are:
b) Giycerides
d) Proteins

a) Vitamins
¢) Lipids
Glucose 1s:
a) Hexahydroxy aldhyde
b) Hexahydroxy ketone
¢) Pentahydroxy aldehyde
d) Pentahydroxy ketone
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